
SAP ABAP table S036BIW2 {S036BIW2 * LIS: Exchange balance 'Lifts/Receipts' (IS-Oil EX}

S036BIW2

MANDT [CLNT (3)]

SSOUR [CHAR (4)]

VRSIO [CHAR (3)]

SPMON [NUMC (6)]

SPTAG [DATS (8)]

SPWOC [NUMC (6)]

SPBUP [NUMC (6)]

MATREF [CHAR (20)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

EXGPTR [CHAR (10)]

UPENR [CHAR (3)]

EXGTYP [CHAR (4)]

EXGNUM [CHAR (10)]

MATINEX [CHAR (1)]

OIBASPROD [CHAR (18)]

PERIV [CHAR (2)]

BASME [UNIT (3)]

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 S036BIW2-EXGPTR = LFA1-LIFNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 S036BIW2-MATNR = MARA-MATNR 

0..N

0..N

 S036BIW2-OIBASPROD = MARA-MATNR 0..N

0..N

OIA01

MANDT [CLNT (3)]

EXGNUM [CHAR (10)] S036BIW2-EXGNUM = OIA01-EXGNUM 0..N

{0,1}

P44V

MANDT [CLNT (3)]

GSTRU [CHAR (30)]

SSOUR [CHAR (4)]

VRSIO [CHAR (3)]

 S036BIW2-VRSIO = P44V-VRSIO 
0..N

0..N

T000

MANDT [CLNT (3)]

 S036BIW2-MANDT = T000-MANDT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 S036BIW2-WERKS = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 S036BIW2-BASME = T006-MSEHI 

0..N

0..N

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 S036BIW2-PERIV = T009-PERIV 

0..N

0..N

TOIA2

MANDT [CLNT (3)]

EXGTYP [CHAR (4)]

 S036BIW2-EXGTYP = TOIA2-EXGTYP 

0..N

{0,1}


